Efficiency vs hit

900
s . . . . . .

P X0 SRR REEE EEEE REERE EEPEE SREPE PPN
>

D008+~ rr i e ek
g

©.007

=

D006~ -t e e dr et e e
0.005f- -+ +- e deneiboe il
0.004
0.008[- - weniesnsdonnsats

J SR R S R L e o R

5 10 15 20 25 30 35 40

[—— DQM_mKFt_TTorgmal
—e— DQM_mkFit_TT_JanUpdate-noErr
—— DQM_mkFit_TT_JanUpdate-statErr

—— DQM_mkFit_TT_JanUpdate-systErr

[ Efficienc] —— DOM_mkFit TT JanUpdate-bothErr

© 0.0]
[

» 0.0
¢ 0.0%

14 16 18 20 22 24
TP layers

0O 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

» 0.0}
9]
#®.009
R.008
4
.007
(5]
©.006]
L
$.005
0.004]
0.003
0.002]
0.001

Ratio

oy e = S

TP 3D layers




	Contents
	Page 1


